I [T d & 1 I 1 C- 20 Wheel Alignment Tool (TT600933)

Tools Needed: 2.5nm allen wrench
Assembly Instructions:

Wheel Alignment Tool can be used with or without tube supports (3) and (4).To install tube supports, loosen
M5 set screws (6) using a 2.5mm allen wrench. Slide Male Tube Support (4) onto Male Aligner Tube (2) and
tighten set screw. Repeat the process for the Female Tube Support (3) and Female Aligner Tube (1).

ITEM NO. PART NUMBER DESCRIPTION Qry.
1 TT0009210 Wheel Aligner Female Tube 1
2 TT000911 Wheel Aligner Male Tube 1
3 17000912 Wheel Aligner Female Tube Support 1
4 7000913 Wheel Aligner Male Tube Support 1
5 11600929 Seat Stay Collar 1
6 WH000039 M5x0.8 X l%lgrg\b%gp Point Setf 2
7 WHO000040 Plug, 18mmID X 19mmOD 1
8 WH000041 Plug, 20mmID X 22mmOD 1

] TerraTrike.com | 800.945.9910

TerraTrike® Wheel Alignment Tool (TT600933)

Tools Needed: 2.5mm allen wrench
Assembly Instructions:

Wheel Alignment Tool can be used with or without tube supports (3) and (4).To install tube supports, loosen
M5 set screws (6) using a 2.5mm allen wrench. Slide Male Tube Support (4) onto Male Aligner Tube (2) and
tighten set screw. Repeat the process for the Female Tube Support (3) and Female Aligner Tube (1).

ITEM NO. PART NUMBER DESCRIPTION Qry.
1 TT0009210 Wheel Aligner Female Tube 1
2 TT000911 Wheel Aligner Male Tube 1
3 17000912 Wheel Aligner Female Tube Support 1
4 7000913 Wheel Aligner Male Tube Support 1
5 11600929 Seat Stay Collar 1
6 WH000039 M5x0.8 X l%lgrg\b%gp Point Setf 2
7 WHO000040 Plug, 18mmID X 19mmOD 1
8 WH000041 Plug, 20mmID X 22mmOD 1

] TerraTrike.com | 800.945.9910



